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QUESTION 1

Which command should be used to enable automatic synchronization for all software images and configuration on the
Alcatel 7x50?

A. Admin redundancy synchronization boot-env
B. Admin redundancy synchronization config
C. Configure redundancy synchronize boot-env
D. Configure redundancy synchronize config

E. It is enabled by default

Correct Answer: C

QUESTION 2

What MPLS tunnel label(s) will be used in the data packet traveling on LSP toR4 FRR leaving from Node 3 to Node 47?
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Naode 3
# =zhovw router wpls l=p toR4FREE path detail
MFL3 L3P toR4FRR Fath (Detail)
Legend
@ - Detour Avsilahle # - Detour In Use
b - Bandwidth Protected n - Node Protected
L5P toR4FRE Path toPodd
L5F Name toR4FEER Path LSF ID 17
From 10.10.1.3 To 10.10.1.4
Acm S-ate up Jper State Up
Fath HName toPcdd Path Tvpe FPrimary
Path Admin Up Path Oper Tp
outInzerface: nfa Cut Label n/a
Fath Jp Timwe: 0Od CO:06:15 Path Dn Time Od Qo:oo0:00
Fecrv Limit o Fetry Timer a0 sec
Detryhttaempt: 2 Next Retry In £ zec
Bandwidth o Feservation Oper Bandwidth 0 Mops
Hop Limit 255
Fecord Route: EReccrd Fecord Lakel Fecord
Oper MTU 919E Negotiated MTU 9193
Lodaptive Enakled MEE ZState MN/A
Include Grps: Exolude Grps
None None
Path Trans 19 C3PF Querie=s &
Failure Code: badbode Failure HNode 10.,1.5.1
ExplicitHops:
10.10.1.4
Actual Hops
10,1.5.2{10.1C.1.3) W #
-» 10,1.4.2(10.1C.1.4) Record Label 131065
# zhow router mwpls bhypass-tunn=1
MPLZ 3ypaszs Tunnels
To State cut I/F Out Label Reserved FProtected
EW (Ebps) L3P Count
10.1.3.2 Aetive 17176 131069 o 2
Bypass Tunnels : 1

A. 131069 131068
B. 131068 3

C. 131069
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D. 131068
E. No label is used in the data packet

Correct Answer: A

QUESTION 3

Two routers are physically connected to each other over Ethernet port 1/1/1. Review the configuration information
below. What state should the OSPF neighbor be in?

configs port 1/1/1
ethernet
mtu 1514

exit
no shutdown

router interface tolNode:Z
address 10.1.5.1/24
port 1/1/1

router ospf
area 0.0.0.0

interface "toMNodeZ™
mtu 1500

Node 2

config> port 17171
no shutdown

router interface tollodel
addresa 10.1.5.2/24
port 1/1/1

router ospl
ares 0.0.0.0

interface "toMNodel™
mtu 1500

A. INIT

B. EXCHANGE

C. EXSTART

D. FULL

E. No OSPF neighbor

Correct Answer: D

QUESTION 4
A spoke-sdp terminated IES configured on Node 3 is down due on SDP serviceMTUMismatch error. The same error is

found on the corresponding SDP on Node 4. The VPLS is using the default service MTU. Which MTU value should be
modified to bring the SDP up on both Nodes?
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HMode 4 Meode 3
1[].1[].1.“1 ES 200 1[]__10_1.3

AT £t 19216812 e i
""i“" |i|li|ﬂu
192.168.1.1

A. IP MTU of the IES Interface on Node3
B. Port MTU on Node 3 and Node 4

C. SDP Path MTU on Node 3 and Node 4
D. Service MTU on Node 4

E. Path MTU on Node 3 and Node 4

Correct Answer: A

QUESTION 5

Two routers are physically connected to each other with ISIS configured. No ISIS adjacency can be found on both
routers. Ping works fine on the local and the remote interface addresses on both routers. Review the confguration
information shown below. Which of the following statements best describe the cause of the problem? Select one answer
only.
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Node-1

# show router isis interface

Interface Level CircID Oper State L1/L2 Metric

System Id : 0100, 1000.1001
Admin State 1 Up

Ipw4 Routing ! Enabled

Last Enasbled i 12/14/2006 14:44:59
Lewvel Capability : L1Lz

Authentication Check : True

Authentication Type : None

Adjacency Check : loose

L1 Auth Type ! none

Lz Auth Type ! none

L1l CSNP-Authenticati®*: Enabled
L1 HELLO-Authenticat®*: Enabled
L1 PSNP-Authenticati®: Enablecd

L1 Wide HMetrics : Disabled

Lz Wide HMetrics i Disalkled

L1 LEPs HI

Lz LZPs HI <

Last 3SPF i 12/14/2006 14:47:16

SPF Wait 1 10 sec [(Max) 1000 m=s (Initcial) 1000 ms (Second)
Export Poliecies : None

Area Addresses i None

Node-2

# show router isis interface

Interface Level CircID Oper State L1/LZ Metric
toFodl L1 3 op 10/ -
Interfaces 1

System Id : 0100.1000. 1002
bAdmin State - Up

Ipvd Routing : Enabled

Ipwve Routing : Disahled

Last Enabled : 12/14/2006 09:57:41
Level Capshilitcy : LiLz2
buthentication Check : True
buthentication Type : None
bdjacency Check : loose

L1 Ahuth Type : none

L2 huth Type I none

Ll C3NF-Authenticati®: Enabled
L1 HELLO-Authenticat¥: Enabled
L1 PSNP-Authenticati®*: Enakled

Ll Wide Metrics : Disabled

Lz Wide Metrics : Disabled

L1 LSPs = ik

LZ LSPs : 3

Last 3IFF : 12/14/2006 10:00:35

3PF Wait : 10 sec (Max) 1000 m= (Initcial) 1000 m=s (Second)
Export Policies : None

Area Addresses : None

A. The ISIS interface level configured does not match the ISIS level capability supported on the routers

B. The ISIS authentication check is enabled but there is no authentication type and password configured

C. ISIS Area addresses are not configured on both routers
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D. L1 wide Metrics are disabled on the routers
E. ISIS Circuit id does not match on Node-1 and Node-2

Correct Answer: C
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